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PART – A 

(Objective Type) 

Choose appropriate answer from the options in the questions. One mark each.  
(60  1 = 60 marks) 

1. In which year the term ‘Sociology’ was coined? 

a) 1798 b) 1815 

c) 1839 d) 1857 

Entrance Examination for Admission to the P.G. Courses in the Teaching 
Departments, 2020 

CSS 

SOCIOLOGY 

 

General Instructions 

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’ 
Descriptive type (40%). 

2. Objective type questions which carry 1 mark each are to be (✓) ‘tick marked’ in the 
response sheets against the appropriate answers provided. 

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’. 

4. Negative marking : 0.25 marks will be deducted for each wrong answer 
in Part ‘A’. 

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate  

in Figures         Register 
Number 

in words         



J – 2261 2

 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2. The twin sister of sociology is  

a) Political Science b) Philosophy 

c) Anthropology  d) Psychology 

3. Sociology emerged in 

a) America b) Europe 

c) Asia d) Africa  

4. Which one of the following is not an element of rural community? 

a) We-feeling b) Cultural diversity 

c) Territory d) Self-sufficiency 
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5. Norms are imposed through —————— means of social control. 

a) Formal and legal b) Formal and informal 

c) Cultural d) Informal and legal  

6. Learned and shared cultural products that justify certain type of behavior in a 
given society are known as 

a) Norm b) Value 

c) Culture d) Custom 

7. Socialization is also called 

a) Acculturation b) Cultural diffusion 

c) Enculturation d) Cultural deprivation  

8. A nurse in a hospital is a 

a) Role b) Status 

c) Post d) Category 

9. The idea of role taking is fundamental to the theory of ‘Social self’ established by 

a) C.H. Cooley b) G.H. Mead 

c) Freud d) Merton  

10. The status of an engineer in an IT company comes under 

a) Ascribed b) Skilled 

c) Inherited d) Achieved 

11. ‘Looking glass self’ is a social psychological concept created by 

a) Mead b) Freud 

c) C.H. Cooley d) Blumer 

12. Non-material culture consists of 

a) Furniture b) Automobiles 

c) Roads d) Values and virtues 
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13. Secondary co-operation is found among the 

a) Family b) Workers in an industry 

c) Friends group d) Children’s play group  

14. Competition is not governed by 

a) Moral norms b) Legal rules 

c) Unregulated norms d) Fair regulations 

15. Amalgamation or intermarriage is highly possible in 

a) Accommodation b) Assimilation 

c) Conflict d) Competition 

16. In-group and out-group was classified by 

a) C.H. Cooley  b) P.A. Sorokin 

c) W.G. Sumner d) Park and Burgess 

17. One man marries to more than one woman at a given time is 

a) Polygyny b) Polyandry 

c) Monogamy d) Group marriage  

18. Avunculate is a special relationship between a 

a) Man and his wife’s sister 

b) Man and his mother’s brother 

c) Woman and her husband’ brother 

d) Man and his father’s sister 

19. Which one of the following is not a factor of modernization? 

a) Industrial mobility b) Social mobility 

c) Physical mobility d) Scientific mobility  
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20. Which one of the following characteristics is not suitable to the occurrence of 
social change in the society? 

a) Continuous process b) Universal phenomenon 

c) An essential law d) Uniform 

21. A person who intends to join the army may start doing exercise and learn 
manners of army personnel is an example of 

a) Primary socialization b) Anticipatory socialization 

c) Developmental socialization d) Re-socialization  

22. Social control of urban society is not based on 

a) Informal means of social control 

b) Formal means of social control 

c) Legislations 

d) Law 

23. An engineer working in a  factory may resign from his job and join another factory 
as an engineer with the same capacity is considered to be a  

a) Vertical social mobility b) Horizontal social mobility 

c) Downward mobility d) Upward mobility  

24. Social stratification refers to 

a) Social equality b) Social justice 

c) Social inequality d) Mobility 

25. Social evolution is used to explain the evolution of 

a) Organism b) Human society 

c) Species d) Micro organisms  

26. The concept of dominant caste is propounded by 

a) Radha Kamal Mukherjee b) B.R. Ambedkar 

c) M.N. Srinivas d) G.S. Ghurye 
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27. Caste can be described as  

a) A form of social stratification b) Social mobility 

c) Social equality d) Diversity   

28. The word ‘Secularization’ is derived from the latin word 

a) Seculum b) Seclusion 

c) Sericulture d) None of the above 

29. Which one of the following is contradictory to promote the idea of gender 
equality? 

a) Decision making power b) Educating women 

c) Position in governance d) Socio-economic exploitation 

30. Assertion :  According to Durkheim, church is a broad concept and does not 
merely refer to a community priests. 

 Reason :  Church is a moral community consisting of both of priests and 
common individuals. 

a) Both Assertion and Reason are true and reason correctly explains 
Assertions 

b) Both Assertion and Reason are true and reason is not correctly explanation 
of Assertion 

c) Assertion is right and Reason is wrong 

d) Reason is right and Assertion is wrong 

31. Which is not a feature of secular society? 

a) Kinship ties are not very strong 

b) A secular state has a compulsory official religion 

c) Traditions and rituals are at a minimum 

d) Rationality dominates the super natural 
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32. Objectivity —————— 

a) Partially interpreting data b) Gives priority to his belief 

c) Detached impersonal attitude d) Biased collection of data 

33. Which among the following research method is best suitable when the area of 
research will be large? 

a) Observation method b) Questionnaire method 

c) Interview method d) Sample survey method  

34. First hand study of small community is called 

a) Ethnography b) Ethnology 

c) Aesthetics d) Ethics 

35. Thurston scale is a type of 

a) Interview schedule b) Opinion poll 

c) Questionnaire d) Attitude scale 

36. To test null hypothesis, a researcher uses 

a) ANOVA b) t test 

c) Factorial analysis d) Chi square 

37. A researcher selects a probability sample of 100 out of the total population. It is 
said to be  

a) Snow-ball sampling b) Quota sampling 

c) Convenient sampling d) Random sampling  

38. The most important criterion of a good sample is its 

a) Large size b) Representativeness 

c) Ambiguities d) Small size 
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39. A —————— method is a form of qualitative analysis involving the very useful 
and complete observation of a person, a situation or an institution. 

a) Inverse deductive b) Case study 

c) Historical method d) Social survey  

40. Which of the following belongs to a non-probability sampling technique? 

a) Random sampling b) Purposive sampling 

c) Cluster sampling d) Stratified random sampling 

41. Of the following, which factor played a crucial role in maintaining the distance 
between different castes? 

a) Endogamy b) Hierarchy  

c) Purity and pollution d) Physical distance  

42. The class of a person is determined by his 

a) Differentiation b) Stratification 

c) Remuneration d) Occupation 

43. The scientific study of old age, and the problems of old people is called as 

a) Sociology b) Criminology 

c) Gerontology d) Anthropology 

44. The term anomie is nearest in its meaning to 

a) Instability b) Normlessness 

c) Deviance d) Culture complex 

45. Who are considered to be ‘high risk’ groups to get rapid infection to HIV/AIDS? 

a) Old aged b) Commercial sex workers 

c) Women and children d) House wives 
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46. According to Durkheim, which one of the type of suicide occurs due to over 
integration of an individual into social proof like warrirors? 

a) Anomic suicide b) Fatalistic suicide 

c) Egoistic suicide d) Altruistic suicide 

47. Who among the following studied sanskritisation among Okkalingas of Mysore? 

a) M.N. Srinivas b) G.S. Gurye 

c) J.H. Hutton d) V. Elwin 

48. Which of the following is not a form of domestic violence? 

a) Wife battering b) Abduction 

c) Dowry deaths d) Sexual abuse 

49. Who developed the ‘Elite theory of social change’? 

a) Pareto b) Spengler 

c) Comte d) Sorokin  

50. Who among the following supported the cyclical theory of social change?  

a) Parsons b) Marx 

c) Durkheim d) P. Sorokin 

51. Modernization refers to 

a) Dress style b) Constructing more building 

c) Way of life d) Advancement in technology 

52. People in lower caste seeks upward mobility by following the rituals and practices 
of upper or domain caste is a process of 

a) Modernization b) Sanskritization 

c) Urbanization d) Westernization 

53. Which among the following comes first in Comte’s hierarchy of sciences? 

a) Sociology b) Physiology 

c) Mathematics d) Physics  
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54. According to Durkheim, the division of labour is the result of  

a) Moral development b) Increase in population density 

c) Abundance of money d) Technical advancement 

55. According to Marx’s Dialectical materialsm, the term ‘Dialectic’ has been derived 
from the Greek word ‘Dialigo’ means  

a) Validating b) Reasoning 

c) Understanding d) Calculating 

56. Darwin’s ‘survival of the fittest’ is associated with whose evolutionary theory? 

a) Weber b) Marx 

c) Comte d) Spencer 

57. Who have predicted that conflict may have some positive role to play? It 
enhances social solidarity of a given group? 

a) Ralf Dahredorf b) Marx 

c) Coser d) Radcliffe Brown  

58. Panchayat Raj is —————— political system based on the local government. 

a) Western b) South Asian 

c) East Asian d) North Asian 

59. Green revolution does not include 

a) Use of new chemical fertilizers 

b) Use of newly developed pesticides 

c) Low productivity in agriculture 

d) High productivity in agriculture 

60. A system in which high caste families are provided services by lower caste 
people is termed as  

a) Caste system b) Economic system 

c) Jajmani system d) Class system 
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ANSWER SHEET — PART – A 

1 A B C D E  21 A B C D E  41 A B C D E 
 

2 A B C D E  22 A B C D E  42 A B C D E 
 

3 A B C D E  23 A B C D E  43 A B C D E 
  

4 A B C D E  24 A B C D E  44 A B C D E 
 

5 A B C D E  25 A B C D E  45 A B C D E 
 

6 A B C D E  26 A B C D E  46 A B C D E 
 

7 A B C D E  27 A B C D E  47 A B C D E 
 

8 A B C D E  28 A B C D E  48 A B C D E 
 

9 A B C D E  29 A B C D E  49 A B C D E 
 

10 A B C D E  30 A B C D E  50 A B C D E 
 

11 A B C D E  31 A B C D E  51 A B C D E 
 

12 A B C D E  32 A B C D E  52 A B C D E 
 

13 A B C D E  33 A B C D E  53 A B C D E 
 

14 A B C D E  34 A B C D E  54 A B C D E 
 

15 A B C D E  35 A B C D E  55 A B C D E 
 

16 A B C D E  36 A B C D E  56 A B C D E 
 

17 A B C D E  37 A B C D E  57 A B C D E 
 

18 A B C D E  38 A B C D E  58 A B C D E 
 

19 A B C D E  39 A B C D E  59 A B C D E 
 

20 A B C D E  40 A B C D E  60 A B C D E 
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SOCIOLOGY 

PART – B 

(Descriptive Type) 

Answer any eight questions in 500 words.   (8  5 = 40 Marks) 

1. “Norms and values are essential to develop our personality” — Comment your 
views. 

2. “Culture is not innate. It is learned”. — Substantiate your answer with examples. 

3. How competition leads to conflict in the present day society? Explain with 
examples. 

4. Examine the causes and consequences of disintegration of family structure in 
India. 

5. “Social control is essential to regulate human behavior” — Comment. 

6. How agents of socialization played a role in your life? Illustrate with examples. 

7. “Existence of gender discrimination at work place in Kerala” — Analyze and 
discuss the suggestive measures. 

8. Differentiate interview and questionnaire in social research. 

9. Give suggestive measures to rectify the problems of the aged. 

10. Enumerate the social change in contemporary India. 

11. Give an account on Durkheim’s concept on division of labour in society. 

12. Bring out the impact of green revolution in India. 

———————— 
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